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Q.No: 1 Choose the incorrect statement about Swami Vivekanand
2427969
T} AT & IR H Ted BYH BT FGT P
He was born in 1863
A
I T 1863 H g Ul
His guru's name was Ramakrishna Paramhansa
B
I T[S I A1 IEFHW A U
He died in 1923
(o}
1923 ¥ T TG A TS
His original name was Narendra Nath Dutta
D

IHT T AW A A & AT

Correct Ans : C

Subject : General Knowledge

Q.No: 2
2430650

Which of the following is not correctly matched?

Frofafea & § $F-w1 9 gafa T 82

EXIM Bank - Import Export

EXIM §% - 3w Fafa
RBI - Banker's Bank

RBI - 35! &1 ¥&

IDBI - Industrial Finance

IDBI - 3iEfi® T

FCI - Commercial Bank

FCI - Qi §%

Correct Ans : D

Subject : General Knowledge

Q.No: 3
2432424

The call “India for the Indians” was given by in the year

3o BR g fSET” &1 s grT ay o T oM
Swami Vivekanand, 1776

wanft fidere, 1776

Raja Ram Mohan Rai, 1976

Tl I Hig 34, 1976
Bal Gangadhar Tilak, 1976

T TR foa®, 1976

Dayananda Saraswati, 1876
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TgIE W, 1876
Correct Ans : D

Subject : General Knowledge

Q.No: 4 The resolution of Quit India Movement was passed by Congress in which of following session?
2433569

FrafaRea # 9 g oA o FEN gRT URA BIS! 3ficIa &1 Yard TIRkd faar T ur?

Bombay
A

T

Madras
B

REE)

Calcutta
C

Dbl

Lucknow
D

TGS

Correct Ans : A

Subject : General Knowledge

Q.No: 5 Which of the following is the largest company in India?

2434473
oo & § $-8 1Ra & T g duA § 2
Flipkart
A
foRTEpIE
India Bulls
B
RS
Bajaj
c
CEIE
Tata Consultancy Services
D

2Tel Haacyl fade
Correct Ans : D

Subject : General Knowledge

Q.No: 6  How many countries share their boundary with India?

2437351
HRA &y e a1 sroeht e e e g2
8
A
8
7
B
7
6
c
6
5
D
5

Correct Ans : B

Subject : General Knowledge



Q.No: 7  Which century witnessed commencement of devotional songs in India?

2440734
uRa F ufd Tl Bt end e § g5?
15th

A
15
16th

B
16 df
17th

C
17 &
18th

D
184

Correct Ans : A

Subject : General Knowledge

Q.No: 8  Which player won maximum gold medals in the Tokyo Olympic 20207

2440821
Al i 2020 # T RSt A Wit ool uew i 82
Cealeb Dressel
A
W o
Emma Mckeon
B
T A
Daiki Hashimoto
C
g BRI
Vitalina Batsarashkina
D

faerfert seR=IST

Correct Ans : A

Subject : General Knowledge

Q.No: 9 Who created history by winning the World Championships Silver medal in the Women Wrestling Category?
2440831

oftar $it o+ F fay SR o1 W uee Haa sfoer e @

Geeta Phogat

A

ffer BrTer

Vinesh Phogat
B

a1 wire

Anshu Malik
C

Y Al

Sakshi Malik
D

el wicis

Correct Ans : C

Subject : General Knowledge

Q.No: 10 What is the name of the autobiography of Syed M. Ali?
2440938

Jug T, e B SMABU BT TH T 2



My Way of Cricket

A
g 3 3w fpde
Cricket and Cricket
B
fordpe s fvde
Tales of Cricket
C
T Sifw fde
Cricket Delightful
D

frdpe feamgepa
Correct Ans : D

Subject : General Knowledge

Q.No: 11 Which city has a historic symbol which is known as TIR-GOLA?
2441131

e IR @1t UWeiie udles & R for-iiar & = & <T S 82

Balaghat
A
e
Barwani
B
TSAF
Betul
C
g
Bhind
D
fis

Correct Ans : B

Subject : General Knowledge

Q.No: 12 The pillar, Khambaba is made up of

2441194
@ ara T3
Iron
A
et
Copper
B
Gic)l
Lime stone
C
FAT IR
Quartzite sandstone
D

PIESRE TGN TRR
Correct Ans : D

Subject : General Knowledge

Q.No: 13 Bihari Lal was born in which city?

2441311
foert ar@ &1 o foe <reR H gam ur?
Bhopal

A
iare

B Indore



Sagar
C

R

Gwalior
D

AR

Correct Ans : D

Subject : General Knowledge

Q.No: 14 Which of the following rivers do NOT have its source in Madhya Pradesh?

2441461
Fraferea & J g 7d) 1 350 7 W | T 82
Tapti
A
it
Mahanadi
B
e
Wainganga
C
T
Godavari
D
et

Correct Ans : D

Subject : General Knowledge

Q.No: 15 How many recognized Scheduled Tribes does Madhya Pradesh have until April, 2021?
2441602

3, 2021 TF AeA U H et AR Und SrIgfad SHefaat 82

27
A

27

32
B

32

46
C

46

58
D

58

Correct Ans : C

Subject : General Knowledge

Q.No: 16 Permanent benches of High Courts of Indore and Gwalior were established in which of the following years?
2441712

R AR TIfeRR & = Rl 31 wirdt st 3 vt e & 3 o af & 31 78 &

1956
A

1956

1968
B

1968

C 1971



1971

1989

1989
Correct Ans : B

Subject : General Knowledge

Q.No: 17  Who is the Current Governor of Madhya Pradesh?

2441731
e UaR & TqH XISAUTd S 62
Shri Lal Ji Tondon
A
ot are ot s
Smt. Anandiben Patel
B
relt erdler wew
Shri Mangubhai Patel
(o)
oft s wew
Shri O.P. Kohli
D
ot .. e

Correct Ans : C

Subject : General Knowledge

Q.No: 18 How many projects have been approved under the Central Road & Infrastructure Fund (CRIF)scheme for 2021-22 in Madhya Pradesh?
2441830

e Y™ # 2021-22 ¥ o Yeu A8 Us hReTR S (CRIF) AT $ dgd ol uRaiomTsi 3 wegdt < 78 82

17
A

17

23
B

23

28
C

28

32
D

32

Correct Ans : B

Subject : General Knowledge

Q.No: 19 The central government permitted states to increase their fiscal deficit up to of GSDP in 2020-21.
2441890

FE WEHR T 2020-21 F 7t T BV 30 ISHING U Y SHf¥GaH w31 Srafa i B

3%
A

3%

5%
B

5%

8%
C

8%

10%
D

10%

Correct Ans : B



Subject : General Knowledge

Q.No: 20 J.K. Temple is situated in which district of Uttar Pradesh?

2442495
.. Hifex I waw & fpw forr R &2
Mathura
A
Rty
Prayagraj
B
TAFRTS
Kanpur
[o
PR
Lucknow
D
TGS

Correct Ans : C

Subject : General Knowledge

Q.No: 21 Following what can reduce the possibility of getting diseases?

2423042
61 T 1 T X § 3T € BT GG A &1 Jebell 52
Alcohol consumption
A
RIS T HaT
Balanced diet
B
TR SMER
Fad diet
Cc
Wil HieH
Eating junk food
D

SERADBY Gl
Correct Ans : B

Subject : General Science

Q.No: 22 Which of the following is the phenomenon of splitting of lights into its constitute colors?
2425731

Frafafad § & S W Yer F onm afda Wi F v 9 Bt wen g2

Refraction of light

A
TR BT T
Dispersion of light
B
WIS T VIl
Reflection of light
C
IR BT TR
None
D
B T

Correct Ans : B

Subject : General Science

Q.No: 23 What can be defined as the rate at which work is completed, as well as the quantity of energy spent per unit of time?
2425885



oY @R UR plH Y gldl g, HIY gl Yid Yl4C HHY H dd bl g GDull ol HiZAl d U H il URHIING Ibdl Wil debdl g7

Friction
A

wfor

Resistance
B

ufRY

Velocity
C

*

Power
D

wfda

Correct Ans : D

Subject : General Science

Q.No: 24 is the study of the interrelationships between various components of air, natural cycles, earth's geological processes, and climate.
2429264

g & fAfta weal, Ul =i, gt B I Uiearsi ok Saarg & dia siawd 1 oreaH gl

Meteorology

A

SfaRe-fmr

Weatherlogy
B

e fagm

Technology
C

rehfiet

Climatology
D

ey R

Correct Ans : A

Subject : General Science

Q.No: 25 The mode of nutrition of Agaricus is -

2429896
9% & Ao B e -
parasitic
A
TRt
autotropic
B
sficigiis
saprotrophs
Cc
et
detritivoress
D
[lgeaicd

Correct Ans : C

Subject : General Science

Q.No: 26 Observe the following figure given below. This organism belongs to which kingdom?
2429912



Chremosome

v
P~ Capsu'e or
shme layer

Flagellum

Plasmid Cell wall

Cell membrane

13 e ¢ fom 1 e @ S I it 5 IS @1 82

Chremosome
Pulus (f.mbria) >

Riboscmes \

Inclusion

Flagellum Nl
N Capsute or
shme layer

Plasmid Cell wall

Cell membrane

Monera
A

o]

Protista
B

Eleeric

fungi
C

2-ca

eukaryotes
D

i

Correct Ans : A

Subject : General Science

Q.No: 27 Observe the following figure given below. This organism belongs to which kingdom?

2429922
//"é\v\

{)}j{(\//‘ )

2D

K
7
} //

/

[ Q’Ieurobrachia

e AN

4
| /7

4
/
b .
( Pileurobrachia
SRS \

cnidaria

Feiar

Ctenophora

FEABRT

Nematoda

ST



8] Platyheiminthes

wRRRRR

Correct Ans : B

Subject : General Science

Q.No: 28 Which one of the following is the odd one out?

2429954
Frofifaa & § o1 W e v 32
choanocytes
A
@iy
polymorphism
B
el
polyp and medusae
C
Hfei AR Agd
central gastrovascular cavity
D

e RGaRGeR et

Correct Ans : A

Subject : General Science

Q.No: 25 A Compound that can be used as both an antiseptic and a disinfectant is
2430165

TF AE o & WHRDE iR 16 SeARE Sl & w9 § 5w fear o 96 gl

Phenol
A

i

Terpineol
B

At

Teflon
C

i

Polymer
D

iR

Correct Ans : A

Subject : General Science

Q.No: 30 is a physical quantity that measures the amount of motion of a moving body.
2430376

T i 95 8§ S U oA e Bt i) 3 A B A )

Pressure
A

T

Momentum
B

T

Fluids
C

v wanf

Buoyant
D

RO

Correct Ans : B

Subject : General Science



Q.No: 31 Aurora Borealis is also known as the -

2431640
IR SRferd P fopg A F +f S S 82
Equator lights
A
AT7e @ IR
Northern lights
B
I AR
Southern lights
C
aféroft I=rt
Winter lights
D
HiaepreftT A2

Correct Ans : B

Subject : General Science

Q.No: 32 The cell which results after fusion of the is called a zygote.
2432185

TG PRGIN_____ & T & 918 S+t 7, T Hga 8l

Ovum
A
&=
Pollen tube
B
RRAE=C)
Pollen grain
C
TRITHIT
Gametes
D
gHs

Correct Ans : D

Subject : General Science

Q.No: 33 Which of the following is not caused by bacteria?

2432211
Frofafea & § S Saiivar o1 HRo e g §2
Cholera
A
e
Typhoid
B
CRWIZS
Tuberculosis
C
&
Hepatitis A
D
slerfed A

Correct Ans : D

Subject : General Science

Q.No: 34 As per the balanced diet chart which of the following should be taken in the lowest quantity?
2434278

T SMER A1E & SR 9 § T &0 76 § o o arfen?



A Sugar

Pulses

Milk

™
Vegetables

fesrai
Correct Ans : A

Subject : General Science

Q.No: 35 In which year did the Government of India start the Total Sanitation Campaign (TSC)?

2434334

URA WIR A g 7 § Sguf ww=ar sftmE (Sea IFRzM $HF) (TSC) T fvar ur

1991
A

1991

1995
B

1995

1999
C

1999

2003
D

2003

Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?\

2422600
9,12, 11, 14, 13, 19, 15
el | TTerd S BT Tl Te?
9, 12,11, 14, 13, 19, 15
15
A
15
19
B
19
14
C
14
12
D
12

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Suman walks 15 meters towards West. After that she turns to the right. Then walks 15 meters and then she turns to her left and walks 10 metres. Then she turns to her broth
2426359 the starting point of his walk to the present place?



YHA 15 Hicr UIgH ol SR daddl g1 X dig dg alg SR Hg vildl g1 [t 15 HICR daddl g SR IWR dg dIg JIR Hg vildl & ddl 10 HIcR deidl g1 1R dg SHU- HIg SR HobR 15 HIcR daidl g1 ddI¥ |

ki

25 meters

25 Tex

40 meters

40 Hiex

30 meters

30 fi?

55 meters

55 Hix
Correct Ans : A

Subject : General Reasoning

Q.No: 38 The diagram represents the likes of kids of a class.

2426576
Pineapgle “ Mango
5
Orange
The ratio of kids who like orange to those who like all the three is -
R TP el Tl 9 0EE B S 81
™
X ob ™
1
q@
eI TG R TR T BT A B e B el & S 8-
8/11
A
8/11
26/11
B
26/11
11/9
C
11/9
11/8
D
11/8

Correct Ans : D

Subject : General Reasoning

Q.No: 39 Select the Lettered pair that has the same relationship as given in the questions:
2426830
Creche : Infants

I 3eR T BT TG DY o] Jae Ul H faw T wee ey 9 7
&9 Ry

School : Pupils

Trerrera : feremelf



Bedlam : Lunatics

A : URTA
Deck : Sailors
c
P : AE
Cottage : Beggar
D

Fiew : framd
Correct Ans : B

Subject : General Reasoning

Q.No: 40 Find the missing term in the following series.

2428321
G13T, I11R, L90O, ?
fmfafaa yaa & gu ug 91 i
G13T, I11R, L90, ?
POK
A
POK
P5L
B
P5L
P5]
c
P5J]
P7K
D
P7K

Correct Ans : D

Subject : General Reasoning
Q.No: 41 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429553

ROSE : ORES :: FILE : ?

I e o1 999 I ol R U8 A Sl TR Hald ¢ oY GO Ug Ued UG ¥ Hafdd g1

ROSE : ORES :: FILE : ?

IFLE
A

IFLE

IEFL
B

IEFL

IFEL
C

IFEL

IELF
D

IELF

Correct Ans : C

Subject : General Reasoning

Q.No: 42 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433454



'f:i.:::?

Answer Figures

(a) (b) O] (d)

I fached 1 799 B S R NPT § S UER WG § O TR <ot ondfa, vl ol & Tafa 71
voal 3naghd :

.f:i':::?

IR 3nga -
D

(a) (b) () (d)

(a)
A

(a)

(b)
B

(b)

()
c

(<)

(d)
D

(d)

Correct Ans : B

Subject : General Reasoning

Q.No: 43 A particular Analogy is being shown. Understand the logic and complete the analogy by selecting correct option:

2434085
O ||| () || 2
T 9T Arged T A ) TH AT A AL A A B AT T AR AR
O l:{p<|x= () ¢ 2
=

A
=
=

B
=

C



=

=

Correct Ans : B

Subject : General Reasoning

Q.No: 44 In the following question, select the odd number from the given alternatives.
2435044

FrefaRad uy & fou Tu fawedt & § fawd 4o o1 997 it

127
A

127

118
B

118

77
C

77

57
D

57

Correct Ans : A

Subject : General Reasoning

Q.No: 45 In the following question, select the odd number-pair from the given alternatives.
2435074

fafafed vy # fag o fawedl # & fava Gen gm $1 gl

7-54
A

7 -54

3-15
B

3-15

12-149
C

12-149

9-86
D

9 -86

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Identify the classes that best represents the relationship among the given diagram.
2435620

F W B ygaH X 9 T MY SR F i ey @1 we o1 uffiie ka8



TWHYRY, U, PRI
Sociology, psychology, Humanities
B
HHISTRIR, HAIASH, AR
Teachers, scholar, Students
C
Rieres, fagr, BH=
Gardens, Flowers, vegetables
D

I, T, fewt
Correct Ans : B

Subject : General Reasoning

Q.No: 47 How many triangles are in the given diagram?

2437709
u Ty s # fre By 82
15
A
15
18
B
18
12
c
12
20
D
20

Correct Ans : A

Subject : General Reasoning

Q.No: 48 My dog Bunty, runs 30 m towards west, turns left and runs 10 m, then turns right, and runs 5 m, then turns left and runs 2 m and again turns right, runs 12 m. Finally it turns
2438487

IR et A, TEH Bt SR 30 THiex g B, T G351 § 3R 10 Hex fear 8, R 10 ger €, @R 5 Hex g v, R a1 gedr € iR 2 Hiex disar € iR 5w ¥ g gy B, 12 ex dgar 31 ¢

East
A

West
B

EEC

C North



South

o

Correct Ans : D

Subject : General Reasoning

Q.No: 49 Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.
2438831

Fofafad IR den-gal § A O den-gw e ke Wed 3 ue g & 9uE § ofR 38 ¥ Ue SeI-gT SR B S SR We-gi &1 99H S

4:17
A

4:17

10:99
B

10:99

5:26
c

5:26

9:82
D

9:82

Correct Ans : B

Subject : General Reasoning

Q.No: 50 Pointing to a lady in a photograph Renuka said, "She is the mother of the boy, whose father is my brother". How is Renuka related to that lady?
2439337

TF TR H TP Al B 3R TR B §U YT A $g, "96 6 A5 BI A 3, o fan iR w15 §1 Yuet 39 7feen ¥ 59 voR weifda 32

Sister
A
Egl
Niece
B
el
Cousin
C
T T
Sister-in-law
D

Hnit

Correct Ans : D

Subject : General Reasoning

Q.No: 51 Choose the group of letter which is different from other.

2439460

HHeRT & I UG B g o o9 § i 7

BGIN
A

BGIN

EKmS
B

EKmS

MPnS
c

MPnS

D EgIM



EgIM
Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440266 If he gets the financial aid, he will be in a position to bear the expenses.

A. he got the financial aid

B. he did not get the financial aid

C. he is in a position to bear the expenses.

D. He is not in a position to bear the expenses.

Ru 7T U 7 9T YA SR IS q] IR P 8| Y BT B TH T, 61 Tod U BT AR G DU I 8, IR & Y Wi T Y GB1 HUT I A 3
Af} 3 snfifes weraar et B, < 9% wd 9T o B R F Em

A. I% onfife wgma et

B. I 3nfife weraar i foreit

C.wEd s p B RN A )

D. 98 GY g7 o7 1 Ul & 461 R

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

gi\‘ltO: 513 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
0319 You are either selfish or selfless
A. You are selfish
B. You are not selfish

C. You are selfless

D. You are not selfless

u Mg Uy F T U SR IUF 18 IR FYA &1 U BT BT FH I, T8 U5d Y B ad g Y G B, 9iR & Ty aifhe T F g $YH @ 9 7
3 71 < W § ar framd

A. 3 @il §

B. g wrdf g §

C. oy fwand §

D. 3y fard et &

AC

AC
DA

DA

cD

cD
AB

AB



Lorrect Ans | B

Subject : General Reasoning

(22;11\‘1‘00:3541 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
° The director is either sane or insane
A. The director is sane
B. The director is insane

C. The director is not Insane

D. The director is not sane

foT 0 Uy § g8 U SR I9F 918 TR FUF §1 S 1 B IH I, 951 T80 HUF P Al g FA G 3, R q FUF A FU F T8 FUF § I g
= a1 o wHEeR § a1 arT

A, FEw® gnsRR 3

B. Fdw urma &

C. Fid=re e 7 ¥

D. FExe ThgeR T8 ®
AD

AD
DB

DB
cB

CB
AB

AB
Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442006
Pants : Clothing
f&u u famedl § @ Hafid eg 71 B
ey : TSI
3 : 0dd number
A
3 : fawm der
B Tree : Wood
a5 B
Worm : Fabric
C
q:ﬁ: m
Sugarcane : Silk
D

T X
Correct Ans : A

Subject : General Reasoning

Q.No: 56 Find the amount of Rs. 7110 for 18 months at 12% per annum, the interest being compounded semi-annually.

2423632
7110 390 F 18 AL & U 129% vfd af Y R F, S sref-a1fifes 33 B, Paw fowar oran 21 v T @ €k
Rs.2900.8029

A
Rs.2900.8029

B Rs.2567.7136



Rs.2567.7136

Rs.8468.12376

Rs.8468.12376
Rs.7654.0812

Rs.7654.0812
Correct Ans : C

Subject : General Maths

Q.No: 57 The present population of a town is 45800. If it increases at the rate of 4% per annum, what will be its population after 2 years?
2423657

TP HX B GAAF SR 45800 1 Al T8 4% U af @t &% I wgdt B, o 2 9 qIg g SFEsn & el

4321.234
A

4321.234

49537.28
B

49537.28

3150.730
C

3150.730

79123.95
D

79123.95

Correct Ans : B

Subject : General Maths

Q.No: 58 At what rate percent compound interest per annum will Rs. 3610 amount to Rs. 4840 in 2 years?
2423674

g a= W ufoRia Fhqfs s widay %, 3610 AR AT, 2 A H 48407

35.20%
A

35.20%

54.80%
B

54.80%

15.78%
C

15.78%

15.20%
D

15.20%

Correct Ans : C
Subject : General Maths

Q.No: 59 Solve:

2428557
G+1-8x1+4H+A0+2+7-12)
saaﬁ:
G+1-8x1=4)+(10+2+7-12)
4

A
4

B
2



8
Correct Ans : A

Subject : General Maths

Q.No: 60 Express the following ratio in the simplest form.

2429418
289 :340: 510
ST BT WAqH ¥ Fad HY:
289 :340: 510
17:20:30

A
17:20: 30
26:73:87

B
26:73:87
55:17:45

C
55:17:45
37:11:13

D
37:11:13

Correct Ans : A
Subject : General Maths

Q.No: 61 The average weight of 8 person's increases by 2.5 kg when a new person comes in place of one of them weighing 65 kg. What might be the weight of the new person?
2432537

8 TfeRHdl F1 ofd YR 2.5 fihcll 9 Ol & o I § U fad &l aui 65 fhal & W W TS 191 fdd o1l 81 ¢ Jfdd 1 dor 71 8 gavell 82

95 kg
A

95 kg

80 kg
B

80 kg

85 kg
[o

85 kg

83 kg
D

83 kg

Correct Ans : C

Subject : General Maths

Q.No: 62 Find average of natural numbers from 1 to 67?

2432558
19 67 TF Wipd YISl BT Ad T0d B2
33.5

A
33.5
34

B
34
50

c

50



67
Correct Ans : B

Subject : General Maths

2-4'\;‘;06734 ‘What should come in place of question matk in the following number series?

7% of 8% = 768

frafafas sear-daar & wafswg (?) % w0 < A ey Aie?

7% 71 8% =768

153
A

153

150
B

150

156
C

156

154
D

154

Correct Ans : B

Subject : General Maths

Q.No: 64 The average height of a family of five members is 160 cm. If the heights of 4 family members is 165, 162, 155 and 160, find the height of the fifth member.
2433851

i Tt & URaR $i 7d Targ 160 i B 9l URaR ¥ 4 Wewi B TEE 165, 162, 155 SR 160 B, O UHd Taw @ TS 1 Hifeil

168 cm
A

168 qefi

162 cm
B

162 97t

158 cm
C

158 I+t

160 cm
D

160 7t

Correct Ans : C
Subject : General Maths

Q.No: 65 2 6x0.91="

2433985
2.6x0.91="?
2.366
A
2.366
0.2366
B
0.2366
23.66
C
23.66

D 236.6



236.6
Correct Ans : A

Subject : General Maths

asar60 IEx6+ y%=x3y3, then find the value of (x° + y9)?

e x6 + y6 = x3y3 B, I (x° + y*) DT HMH JTd B2

2
A

2

o
B

o

3
C

3

1
D

1

Correct Ans : B

Subject : General Maths

Q.No: 67 A shrewd merchant claims to sell his items at cost price but he uses a weight of 440 grams for 500 grams. What is the profit percentage earned by merchant?
2435253

U& FEAM GHFMGR U TG $I 59 Y | T P11 AT § AfB 96 500 U P RIF W 440 U & §iT HT W0 ST §1 §HHIR gRI sHfofa vl anv 31 aiforg?

13.63%
A

13.63%

16.67%
B

16.67%

12.5%
C

12.5%

9.67%
D

9.67%

Correct Ans : A

Subject : General Maths

Q.No: 68 The salary of three workers Ram, Raghu and Rahim are Rs. 3819. If they spend 65%, 70% and 90% of their salary respectively their savings are as 14 : 8 : 6. Find the salary
2435443

7yt Tm, I IR T BT 39 3819 TU §1 X F 3T I BT HH: 65%, 70% HR 90% T B §, O ITH! 9 BT U 14: 8: 6 T A FT A I B

Rs. 1206
A
1206 08
Rs. 250
B
250 ¥9
Rs. 1530
C
1530 ¥04
Rs. 1720
D
1720 ¥ud

Correct Ans : A



Subject : General Maths

SN0 o3 Find the value of 20.05 - [3.06 = (3.57 + (6.24 x T09 = 159))|
20.05 - [3.06 - {3.57 + (6.24 x mn]ﬁﬁﬁ%ﬂﬂﬁl
36.02
A
36.02
25.32
B
25.32
32.85
C
32.85
36.16
D
36.16

Correct Ans : D

Subject : General Maths

(22;\:[’.07:97608 What should come in place of question mark in the following number series?

V132 + 8 +22+ 1799 +.7 + 134 =7

Frafofag ssar-saar § waf=eg (7) F S0 I 747 AT 911 q?

V132+.8+22+ {1799 +.7 +134 =7

63
A

63

71
B

71

68
C

68

65
D

65

Correct Ans : D

Subject : General Maths

Q.No: 71 If PALE is coded as 2134, EARTH is coded as 41590, how is PEARL coded?
2426496

Tf& PALE B 2134, EARTH 1 41590 F &Y & Hifsd a1 9T €, @ PEARL &1 3 $ifSd fasar wmem 2

29530
A

29530

24153
B

24153

25413
C

25413

25430
D

25430

Correct Ans : B



Subject : Mental Ability

Q.No: 72 In a certain code language if STAIR is coded as TVDMW then what will BOARD coded in that language?

2434411

e ffYd g W H, afE STAIR $1 TVDMW & 1 H Feas a1 o1 § o It e 11  BOARD &I & geas a1 s

CQCVF
A

CQCVF

cQDVI
B

cQDVI

DQCVI
c

DQCVI

cQDWI
D

cQDWI

Correct Ans : B
Subject : Mental Ability

Q.No: 73 In a certain code language, if TOOLS is coded as TNRQU then what will CHAIR be coded as in that language?

2434447

& fAfdd F uwT H, afE TOOLS & TNRQU & w4 H Freas b Siram € o It He et ¥ CHAIR 91 $9 G fdan smam?

SKCID
A

SKCID

RKCID
B

RKCID

SKDJID
C

SKDJID

SKDIC
D

SKDIC

Correct Ans : C
Subject : Mental Ability

Q.No: 74 In a certain code language, ‘ROSE’ is coded as '36303810’. How will ‘LOTUS’ be coded as in that language?

2434970

T fAf¥d S 4T #, 'ROSE' &1 '36303810" & wu # Hfed fwan mar g1 39w # 'LOTUS’ &Y Y ferar smgmm?

2232414036
A

2232414036

2430404238
B

2430404238

2032414339
C

2032414339

2430424040
D

2430424040

Correct Ans : B

Subject : Mental Ability

Q.No: 75 In question below are two statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varian
2435483 (onclusions logically follows from the given statements.



Statements:

I. Some books are files.

II. No file is paper.
Conclusions:

I. No paper is a file.

II. Some papers are books.

II1. Some files are books.

AR fow T vy B 1 Fua SR IuF a1g fF Fep 1, 11 9K 111 T I ) S AT I e Y I WA 8, M € 3 W qedt & i et 210 2 9fR R T o o i e fow e e
P

L. 7% e wiga g1

I1. B PTEd TR T8 T

e

L. I IR Prgel T §1

I1. $© TR frae g

I11. $& BIed f&dd g

All the conclusions follow.

[uft e argeRYr e 7

Only conclusions I and III follow.

Paa ey I SR 11T 3FeR0 #3a g

Only conclusions II and III follow.

Paat =Y 11 3R 111 TR TR B |

Only conclusions I follows.

e e 1 SIgERu a1
Correct Ans : B
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varia
2435543 onclusions logically follows from the given statements.

Statements:

1. All donkey are tiger.
II. All horse are tiger .
III. All tiger are lion.
Conclusions:

1. All lion are donkey.
II. All horse are lion.

II1. Some lion are donkey.

2 few g vy R P SR I a1 O e 1, 11 o 111 T T ¥ Sue T T Sl B I W €, 9R 9 IRe: i a9 e el S 8, suet vt s © 6w g e |
P

1. el 18 s ¥

1L T S 919 §)

111 oft /e WR E

e

Lo R E

11, 9+ 919 W3

I11. $% R 19§

Either conclusion I or II follows.

77 ) FreBy 197 11 SR T B

Neither conclusion I nor II follows.

T sy 1 iR T 1T SR Fen *1



C Only conclusion L1 rollows.

Fad Py 11 SR v 2

Both conclusions II and III follows.

2 sy 11 3R III S1ERY #4 B
Correct Ans : D
Subject : Mental Ability

Q.No: 77 What is the least number of cuts required to form exactly 200 identical pieces from a cube?

2438439
TF ¥ 9§ 3iF 200 TAW ¢he 99 & R Sa%a® el 1 Jad Hua F1 87
99
A
99
15
B
15
20
c
20
100
D
100

Correct Ans : B
Subject : Mental Ability

Q.No: 78 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439102 the given conclusions, if any follow from the given statements.

Statements:

No nurse is a doctor.

All doctors are singers.

All nurses are dancers.
Conclusions:

I. Some nurses are singers.

II. Some dancers are doctors.

A T TR U H A BU TuT IEH U & e 1 qn 11 R Y | Suep! AU T S Y W WA § , Wl 81 98 wawia aad J fire el € 8 a1 byl & SfIUR TR SUeT STl TR & §
U

g ot 7 Sieer T 1

i} STy T B

Tt T SR Bl

e

L. 38 T AP 7

I1. $ SR SlaeR Tl

Both conclusion I and II follow

A
o1 1 SR 11 SR SR FRA §
Neither conclusion I nor II follows
B
T s 1 3IR T & 1T SRR e §
Only conclusion I follow
G
Fad Frmy 1 SR FRar §
Only conclusion II follows
D

P Py IT SR ST @

Correct Ans : B



Subject : Mental Ability

Q.No: 79 If vegetables is called plants, plants is called street, street is called road, road is called balcony, balcony is called floor and floor is called roof. Where a girl driving a scooter?
2439216

el o1 1t g1 W, Uel Bl Tt Bgl oY, Tl 3 GSP Tl WY, ST Bl A1 Bl oY, STad-1 I B2 Hel oY IR B B §d gl 5y TSHT Heil Tpe! Jar §?

Balcony
A

Ciccal

Road
B

g

Floor
C

w

Roof
D

od

Correct Ans : A
Subject : Mental Ability

Q.No: 80 If'wall’ is called ‘brick’, ‘brick’ is called ‘door’, ‘door’ is called ‘floor’, ‘floor’ is called ‘roof' and ‘roof is called ‘cement’, then we enter in the room through which one of them?
2439285

g AR 3 'S, e DY 'RAT, TR B HR, T B B HR T B GHEST 71O, R 7 I I s wrem S ot # uaw aRd 82

Window
A

fasa

wall
B

R

Floor
C

wxf

Roof
D

EL

Correct Ans : C
Subject : Mental Ability

Q.No: 81 Rama ranks sixteenth from the top and fifteenth from the bottom in a certain examination. How many students are there in the class?
2439538

M BT RIF U A wdten F 1§ dggat o <Y & Siagal RIF 31 39S F&T H SE B Fa @ o g2

30
A

30

31
B

31

32
C

32

33
D

33

Correct Ans : A
Subject : Mental Ability

Q.No: 82 If‘MACHINE' is coded as 19-7-9- 14-15-20-11, then how will you code ‘DANGER' in the same code?
2442213



Ylg-MACHINE "&] 19-/-9- 14-15-20-11 & =Y H olisd (bl 1] g, dl $HIU 34Ul ls H 'DANGER’ @l cls i ¢il?

11-7-20-16-11-24

A
11-7-20-16-11-24
13-7-20-9-11-25
B
13-7-20-9-11-25
10-7-20-13-11-24
C
10-7-20-13-11-24
13-7-20-10-11-25
D

13-7-20-10-11-25
Correct Ans : C
Subject : Mental Ability

Q.No: 83 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442782
BROWNEST

fau My dfeus et # & 9% Wed YA S 3T 7T 2 B 1Rt b1 W B TG S S Fahalll
BROWNEST

Brown

Brown

Nest

Nest

Town

Town

Honest

Honest
Correct Ans : D
Subject : Mental Ability

Q.No: 84 Which one word can be formed from the following letters ?
2442877
t mner ranage

Ffifa sierl ) 91 Ub Wsg ST S Tl 82

t m ner ranage

absorptive
A
absorptive
arrangement
B
arrangement
advections
C
advections
abruptions
D
abruptions

Correct Ans : B
Subject : Mental Ability

Q.No: 85 From the given alternative words, select the word which can be formed using the letters of the given word.
2443001
SOMNAMBULISM



Fofrea faeedt # ¥ 9 Wea I ST AT T 2eE F &R BT UGRT BB ST S Il 3
SOMNAMBULISM

NAMES

NAMES
BASALT

BASALT
SOuUL

SOuUL
BIOME

BIOME
Correct Ans : C
Subject : Mental Ability

Q.No: 86 If 60 girls can prepare 800 garlands in 5 hours, how many girls are needed to prepare 860 garlands in 1 hour?

2423725
i 60 TSfamar 5 ¥ H 800 AIAT MR IR WHdl &, o 1 ¥ H 860 HIA dOR & & o et arsfdral 3 saaaan grit?
215 girls
A
215 asfhar
260 girls
B
260 TSiHA
312 girls
c
312 Tefat
260 girls
D
260 TSfpat

Correct Ans : A

Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 46 days and B in 44 days. They work together for 7 days and then A goes away. In how many days will B finish the remaining work?
2423744

A 3R B UF T BT 46 &1 & 3R B, 44 A # o= 3d €19 7 ol 0 1w 91y o Xt & iR iR A =ran o 21 2w &f 3 B fram &t o v wom?
1465/31 days

A
1465/31 faa
2321/21 days
B
2321721 f@
1871/53 days
C
1871/53 faa
1716/46 days
D

1716/46 fea
Correct Ans : D

Subject : General Aptitude

Q.No: 88 Find circle’s radius if circle’s area’s is 110 cm?.
2426210

el &7 ERIT WSt Afe Tepel a7 alsher 110 T2 B

A 12.4 cm



12.4 FéfieR

5.91cm

B
5.91 ¥diex
6.97 cm

C
6.97 FéHfieR
4.26 cm

D
4.26

Correct Ans : B

Subject : General Aptitude

Q.No: 89 Which of the following is divisible by 12?
2427608

Frofafea # 9 o9 12 § g 32
312891

312891
643289

643289
1443612

1443612
236709

236709
Correct Ans : C

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 12?
2427621

Frofifea & 4 $F 12 9 faursT 82
863125890765432
A
863125890765432
567798653135780
B
567798653135780
245787554312
c
245787554312
765415788532159743950
D

765415788532159743950
Correct Ans : C

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 9?
2427634

Fofafed ¥ § 91 9 I v 2
18401028391271

A
18401028391271
38491847401358

B

38491847401358



164910174921491

C
164910174921491
24577223466831
D
245777223466831

Correct Ans : D

Subject : General Aptitude

Q.No: 92 A mother is three times as old as her daughter. After fifteen years, the mother will be twice as old as her daughter at that time. Hence, the mother’s present age is?

2431189
TF A 3o 9 3T oy § T 9 ¥ | vng anf & w1, 39 9wy A1 o 3 B ong B SR & e o, w9 o e @2
38
A 38
40
B
40
45
c
45
44
b 44

Correct Ans : C

Subject : General Aptitude

Q.No: 93 Five sharpeners and six erasers cost Rs. 28. Six sharpeners and five erasers cost Rs. 27. Find the cost (in Rs.) of each sharpener and each eraser respectively.
2431200

Ui IR 3R B8 WS T A 28 3. T B UK 3R U WS T I 27 3. T TAF IR IR TdS 95 BT HA: g4 (3 ) 71d I

3,2
A

3,2

2,3
B

2,3

1,
c

1,

4,1
D

4,1

Correct Ans : B

Subject : General Aptitude

Q.No: 94 In AABC, 4B is a right angle, AC = 6cm, and D is the mid-point of AC. The length of BD is:
2431340 AABC #, £B TF GHSIU 8, AC = 6 Q.11 TUT D, AC & 4eafdg & Yol BD T darg 31 o]

4 cm
A 4%
2cm
B 2 ¥t
3cm
& 3
D 1.5cm
1.5 it

Correct Ans : C

Subject : General Aptitude

Q.No: 95 The area of semi-circle whose radius is 14.7 cm,?

2433762
stefga a7 dmwa et Bear 14.7 S 8,2
110
A
110
108.57
B
108.57



108

108
109.56

109.56
Correct Ans : B

Subject : General Aptitude

Q.No: 96 A pizza is chopped into four parts, find the area of each part whose radius is 49 cm?
2433779

T e B TR U B FHIeT A1 €, TAS YT B &Aha JId Siferd forret Brsar 49 it 2

1886.5
A

1886.5

216.5
B

216.5

188.5
C

188.5

186.5
D

186.5

Correct Ans : A
Subject : General Aptitude

Q.No: 97 The ratio of Amit’s age to Anil’s age is 5 : 4. ‘Amit’ will be 30 years old after 5 years. The age of Anil now is:
2436892

A 9 1Y BT AT BT Y F AU 5: 4 ¥1 5 99 91 1A F 3rg 30 a¥ Rl | ST BT A Sy e R

12 years
A

1299

15 years
B

15 T4

20 years
C

20

22 years
D

22 9

Correct Ans : C

Subject : General Aptitude

Q.No: 98 3 -3
2444467 The simplified form of (162 + 16z + 16)is:

3 3

(162 + 167 + 16) HT AIAIFT ATT 52

1}

5121
6%

5121
6%




=

4097

16
4097

Correct Ans : B
Subject : General Aptitude

Q.No: 99 If a natural number is divided by 7, the remainder is 5. What is the remainder, when the cube of that number is divided by 7?
2444626

Il TH Mpiad Tem & 7 ¥ fRuferg famar e @Y, Juha 5 aar 81 afe Ut Sem & w1 $1 7 3 faufsa & d, Avwa @1 gme

2
A
2
3
B
3
5
C
5
6
D
6

Correct Ans : D

Subject : General Aptitude

Q.No: 100 what should come in place of question mark ‘?’ in the following number series?

2444707

18, 90, 450, 2250, ?

freafofea v o v fag (2) & RF T 1 3T

18, 90, 450, 2250, ?

22650
A

22650

11250
B

11250

24140
C

24140

12650
D

12650

Correct Ans : B

Subject : General Aptitude



